
5 12. Die astronomischen Uhren. 53

 

 

 

   
    
 

  
   

   

  
           

 

 

   

Stand- ‘ Täglicher

Tag correction Gang

4 y
:c d x y 3 4 y 73;

1883 27. April = 117 —— 4'11 443 , ‚
28. Mai = 148 3% — 4 54 }g 8723
4. Juli = 185 51 — 5 12 22 0’43

24. Aug. = 236 23 — 5 34 11 \ 0,48
16. Sept. = 259 —— 5 45 ‘ ’

259 —- 117 142 1'” 1° 61° 0,43S voreilend

1883 19. Sept. = 262 0'" 03 „ „
22. Oct. = 295 23 — o 27 33 833
20. Nov. = 324 41 -— 0 47 19 0’46
31.Dec. = 365 = 0 38 — 1 6 44 1716

1884 7. Febr. = 38 38 — 1 50 33 0,87
16. März = 76 31 -— 2 23 25 0,81
16. April = 107 40 — 2 48 30 0775
26. Mai = 147 17 —- 3 18 10 0759
12. Juni = 164 34 — 3 28 17 0’50
16. Juli = 198 33 — 3 45 12 0,36
18. Aug. = 231 27 —— 3 57 12 0,44
14. Sept. = 258 31 — 4 9 25 0,81
15. Oct_ = 289 — 4 34 ’

365 — 262 + 289 — 0 392 ' 4'“ 348 274 0,70s voreilend

Fig. 1. Stand und Gang der Pendelnht Breguet.
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